CAD No

Previous

Previaus Na.
Previaus Na.

Signhature

Date

)

015 6611X/0

C

5 ¢ 4 ] 8 2
\ -/ — /
00\ 10|\ ‘x ‘ /13
1\ \ | /
AN ANETEA \ /|12
\ \ | / —
14\ \ / 17
\ | / —_
16 \ \ \‘ //
\ \ | /
17 \ \ /
\ \ I 13
—— ‘ A -
.z T = g
\ | / 18 21 |GB93-87-M 16 | Zn Plated
_I_ : _|_ 21 2() | GBI3-87-M 4 | /n Plated
I /’, 19 |6B97.1-85-M 4 /n Plated
/ 18 |GB97.1-85-M 16 | Zn Plated
. : 17|6B97.1-85-M 8 /n Plated
/ 16| GB9E-85-M Washer 6 48 | SS
15| 6B6170-86-M Nut M10 16 | Zn Plated
ad ! ! ! ! ! ! 1416B6170-86-M Nut M8 4 |ZnPlated
™ -
I I | | | | 13 13/685783-86-M Bolt M10X30 16 |Zn Plated
15 12 |6B5783-86-M Bolt M8X16 4 /n Plated
18 11|6B5783-86-M Bolt M8X25 4 SS
= 19 10 l085783-86-M Bolt M6X16 48 | SS
Z) Z 1 9 CZXT912.003 CGH N\,H'ﬂ%r(l\i 1 Zef
8 | CZXT1831.002 Inner Shield Plate 2
7 |coxsssoos-1 | Base 2
) - -
]/ > 6 | czxT651.151 Inter—tier Connector 18 Solid
é 5| czx1651.152 Main Terminal Connector 2 Solid
4 | cZXT651.150 Inter—row Connector 5 Solid
437 _ 3 czxT872.014 Outer Shield Plate 2
2 | CZXT658.000 Insulating Bracket 2
1]C2x1321.010 GTS12-100L MODULE 4
No.| Code Parts Description Qty.|Remarks
NOTES:
1)Refer to installation and operating instruction (fig.8) for Intermodule Assembly. 48V C/XT199 /510
2)Refer to installation and operating instruction (fig.5) for the Assembly of the Mork | Qty. | Change [SgnatureDate $12-100
lower module and base. - GTS12-100L MODEL -
Designed by - - e : Grade | Mark | Weight Scale
Checked by GENERAL ASSEMBLY
Sheet No: 1 of 1
GASTON BATTERY
Approved by




	Page 1

